
1            2            3            4            5            6            7           8            9           1 0           11           12            13           14           15           16

A
 

 
 
 
 
B
 
 
 

 
 
C
 
 
 

 
 
D
 
 
 

 
 
E
 
 
 
 

 
F
 
 
 

 
 
G
 
 
 
 

 
H
 
 
 
 

 
I
 
 
 
 

 
J
 
 
 
 

 
K
 
 
 
 

 
L

1            2            3            4            5            6            7            8            9            10           11           12           13           14           15           16

A
 

 
 
 
 
B
 
 
 

 
 
C
 
 
 

 
 
D
 
 
 

 
 
E
 
 
 
 

 
F
 
 
 

 
 
G
 
 
 
 

 
H
 
 
 
 

 
I
 
 
 
 

 
J
 
 
 
 

 
K
 
 
 
 

 
L

TOLERANCES ČSN ISO 8015
GENERAL TOLERANCES ISO 2768-mK  
DIMENSIONS ARE IN mm

NAME:
WHEEL ASSEMBLY

  SHEET 1 OF 1   

SIZE
A0

DRAWN: David Pulpan  08.04.2021 STATE: Development SCALE
1:2 MODIFIED: David Pulpan  28.02.2022 PART NUMBER: 

ASM 2 AAPPROVED: REVISION
A.32NOTES:  WEIGHT

4820.000 g
This material and its content are protected under the copyright (author rights) provisions and eventual intellectual property rights.2N TELEKOMUNIKACE a.s., Identification No.: 26183960, registered seat at Prague 4, Modřanská 621/72, Zip Code 143 01, is exclusively authorized  to exercise all the 
copyright (author rights) as well as eventual intellectual property rights. You may not allow this material access to any third person. 

 POS. PCS. NAME NUMBER MATERIAL

1 1 AXIAL BEARING 1 Part 10 PTFE

2 1 AXIAL BEARING 2 Part11 PTFE

3 1 Bearing Housing ASM 1 

4 1 Bearing Housing 3 PLA

5 1 Bearing Plate Part 14 AL-6061

6 1 Centering Block Part 4 POM

7 2 DIN 433 6.4  DIN 433 8.8

8 4 DIN 912 M4 x 12 - A2  DIN 912 A2

9 2 DIN 912 M6 x 12 - 8.8  DIN 912 8_8

10 12 DIN 7991 M3 x 6 - A2  DIN 7991 A2

11 27 DIN 7991 M3 x 8 - A2  DIN 7991 A2

12 4 Fastener set M8x25 --- 

13 1 FOCUSING WHEEL Part 15 EN AW-2007

14 1 GT2 PULLEY Part 13 EN AW-2007

15 1 PRESSURE ADJUSTMENT SCREW  DIN 912 8.8

16 2 SKF 626-2Z -

REVISION REVISION NO. DESCRIPTION DATE DRAWN APPROVED TECHNOLOGY

ITEM
NO PART NUMBER QTY DESCRIPTION NOTES

1 AXIAL BEARING 11 Axial_bearing_1

2 AXIAL BEARING 21 Axial_bearing_2

3 Bearing Housing1 Bearing Housing_Assembly

4 Bearing Housing 31 Bearing Housing 3

5 Bearing Plate 1 Bearing Plate

6 Centering Block1 centering_block_1

7 DIN 433 6.4 2 bearing_washer_din433_6_4

8 DIN 912 M4 x 12 - A24 din912-m4x12-A2

9 DIN 912 M6 x 12 - 8.82 din912-m6x12-8_8.prt

10 DIN 7991 M3 x 6 - A212 din7991-m3x6-a2

11 DIN 7991 M3 x 8 - A227 din7991-m3x8-a2.prt

12 Fastener set M8x254 fastener_set_m8x25.asm

13 FOCUSING WHEEL 1 Focusing wheel 1

14 GT2 PULLEY 1 gt2_pulley_500.prt

15 PRESSURE ADJUSTMENT SCREW1 m8_pressure_adjustment_screw

16 SKF 626-2Z 2 Bearing 626-2Z

 7 

 8 

 9 

A-A

 9  16 

 3 

 4 

 5  6 

 13 

 14 

 1 

 2 

 15 

 10 

 11 

 12 

B-B

C-C


